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Today we are practicing:
• Addition
• Multiplication
• Problem Solving
• Counting Money

Ability level: Age 7 and above

Pumpkin Apple

Carrot Pear

Broccoli Strawberry

Lemon Egg

50p

Hint: Remember 100p is equal to £1!

3 Carrots
1 Broccoli
5 Eggs
1 Pear
2 Apples
4 Lemons
1 Pumpkin
10 Strawberries

Auntie’s
Shopping 
List:

10p£1

20p

45p

70p

60p

£1.50

Oh no, Auntie didn’t hear the shopkeeper!  
Look at Auntie’s Shopping List and figure 
out how much all of Auntie’s shopping 
costs!

Use the space below for your calculations!

A= £10.45
B = £10.00
C= £9.50
D= £11.00 

How much does Auntie’s shopping 
cost?


